



Impact of Prebiotic Supplementation on Productive Performance, Carcass Traits, and Physiological Parameters of Broiler Chickens under High Stocking Density Condition

Essam Mohamed Hassan Karar^{1*}, Abdel-Rahman Mohamed Mohamed Atta², Hassan Bayoumi Ali Gharib², and Mohamed Abdel-Rahman Abdel-Hamed El-Menawey²

¹Miser Arabian poultry company, Cairo, Egypt

²Department of Animal Production, Faculty of Agriculture, Cairo University, Giza, Egypt

Corresponding author's E-mail: Essamkarar@outlook.com

Received: 09 January 2023
Accepted: 23 February 2023

ABSTRACT

The present study was performed to investigate the effect of increasing stocking density, prebiotic supplementation, and the interactions on broiler chicken performance and some physiological parameters. A total of 912 one-day-old chickens were used in this study, and they were randomly divided into six groups with 4 replicates each. The experiment included three levels of stocking densities (10, 13, and 15 broiler chicken/m²) in 6 groups. Groups 1, 3, and 5 were maintained without prebiotic supplementation, while groups 2, 4, and 6 received a diet supplemented with prebiotics in water (1cm/liter). Reducing stocking densities and adding prebiotics improved body weight, feed consumption, feed conversion ratio, hemoglobin, packed cell volume, oxidative stress parameters (total antioxidant capacity), and European production efficiency factor, while decreasing malondialdehyde levels. On the other hand, stocking density and prebiotic supplementation did not affect dressing percentage, the relative weight of giblet parts, hind part, front part, and lymphoid organs (thymus and bursa of Fabricius). In conclusion, adding prebiotics at 1 cm/liter (Mannan-oligo saccharide and B-Glucan) can partially mitigate the negative effects of high stocking density on production performance, physiological and oxidative stress parameters, and European production efficiency factor.

Keywords: Antioxidant biomarkers, Broiler chicken, β -glucan, Mannan oligosaccharide, Oxidant, Prebiotic, Stocking density

INTRODUCTION

Poultry has become an important industry in the economies of countries, and it plays an important role in providing animal protein at reasonable prices compared to meat and fish. The poultry industry has recently produced food with high progress with a decrease in production cost [Nasr et al. \(2021\)](#). Poultry has a fast production cycle and high feed conversion ratio compared to different other types of farm animals except for fish. Broiler chickens should be supplied with the best environmental conditions to fulfill their genetic potential for growth because any flaw in optimal conditions can reduce performance [\(Feddes et al. 2002\)](#). The stocking density is one of the important factors in the poultry industry. Stocking density

is an expression of live weight or housed birds per square meter of floor space [\(Meluzzi and Sirri, 2009\)](#). Increasing stocking density had benefits that included increasing income, achieving full use of the available area, and improving productivity [Gholami et al. \(2020\)](#). High environmental temperature is one of the most critical factors that affect broiler chickens' performance. High stocking density may be led to reduced dissipation of body heat to the air due to the reduction of airflow at the level of the bird. Due to high stocking densities, some factors that may decrease performance include poor air quality because of increased ammonia, difficulty access to feed and water, and unsuitable air exchange. Decreasing floor

space for broiler chickens may reduce feed efficiency, carcass quality, and growth rate and increase mortality (Feddes et al., 2002; Škrbić et al., 2011; Mahrose et al., 2019).

Prebiotics are natural feed supplements that cause many economic advantages by improving broiler chickens' feed efficiency, decreasing mortality rates, and increasing growth rates (Yaqoob et al. 2021). Stress from high stocking densities had a negative effect on microbial population, growth performance, and gut morphology, while the supplementation of prebiotics can reduce the deleterious effect of stress and microbial dysbiosis in the gut of broiler chickens under the condition of high stocking densities (Kridtayopas et al., 2019). A study by Nikpiran et al. (2013b) was conducted to investigate the influence of prebiotics on the performance, blood enzymes, and organ weight of Japanese Quails. They found a diet containing 1 g/kg prebiotic. The pax (yeast cells of *Saccharomyces cerevisiae*) has positive effects on performance. Dietary prebiotics is supposed to be probable important replacements for antibiotic growth promoters in poultry production due to their improvement in productive performance and health status (Froebel et al., 2019). Recently, there was great attention to the use of prebiotics instead the use of antibiotics in the zootechnical sector (Prentza et al. 2022). Using Fermacto® as a prebiotic at a level of 1.6 g/kg in quail's diet improved its growth performance, and it may be due to enhancing digestion, improving intestinal lumen health, and absorption of nutrients by different enzymes (Nikpiran et al. 2014). Different types of oligo and polysaccharides, including mannan-oligosaccharide (MOS), fructo-oligosaccharides (FOS), inulin, galacto-oligosaccharides (GOS), xylo-oligosaccharides (XOS), pyrodextrins, isomalto-oligosaccharides (IMO), lactulose and beta-glucan are generally regarded as prebiotics (Alloui et al., 2013). Adding prebiotics (*Aspergillus meal*) at a level of 1.6 g/kg to a quail diet has beneficial effects on performance parameters (Babazadeh et al. 2011). This study aimed to determine the effects of different stocking densities and prebiotic supplementation on productive performance, oxidative stress, and physiological parameters.

MATERIAL AND METHODS

Ethical approval

The present study was done and approved by Institutional Animal Care and Use Committee (CU-IACUC) at Cairo University, Cairo, Egypt, under the approval code CU/II/F/42/22.

Study design

A total of 912 unsexed One-day-old Cobb 500 broiler chickens with an average weight of 48 g were used in this study. The trial period lasted from one day of age to slaughter (35 days). The broiler chicks were divided randomly into 6 groups, each group repeated 4 times. The experiment included 3 levels of stocking density (10, 13, and 15 broiler chicken/m²). The stocking density of groups 1 and 2 was 10 broiler chicken/m², groups 3 and 4 were 13 broiler chicken/m² while groups 5 and 6 were 15 broiler chicken/m². Groups 1, 3, and 5 were kept without prebiotic supplementation, while groups 2, 4, and 6 were supplemented with prebiotics in their water 1 cm/liter, Table 1). Feed and water were offered *ad libitum* during the experiment period (35 days). The vaccination program is shown in Table 2. Broiler chickens received starter (1-10 days), grower (11-24 days), and finisher (25-35 days) diets. The compositions of diets are indicated in Table 3.

Broiler chickens were exposed to 23 hours of light, and one hour of dark during the first 3 days, followed by 20 hours of light and 4 hours of dark till the end of the experiment, the light intensity was 25 lux for the first 7 days, and then 10 lux after 7 days of age. The brooding temperature was set at 32°C on the first day, and gradually reduced to 24°C by the end of the third week, then maintained at 24°C until the end of the experiment.

Table 1. Experimental design of the study

Group	Dietary treatment
T1	10 bird/m ² +0 prebiotic
T2	10 bird/m ² +1 cm prebiotic/liter water
T3	13 bird/m ² +0 prebiotic
T4	13 bird/m ² +1 cm prebiotic/liter water
T5	15 bird/m ² +0 prebiotic
T6	15 bird/m ² +1 cm prebiotic/liter water

T: Treatment

Table 2. Vaccination program of broiler chickens (Cobb 500) in the present study

Age (days)	Type	Method	Dose
6	Infectious Bronchitis (IB primer) +Newcastle disease (ND-Hitchener B1)	Eye drops	1 dose
10	Newcastle disease (ND- Hitchener B1) + Avian Influenza (H5n3)	Injection under the skin neck	0.5 ml dose
12	Infectious Bursal disease (IBD 78)	Eye drops	1 dose
16	Infectious Bronchitis (IBird)	Eye drops	1 dose
18	Newcastle disease (ND-Lasota)	Eye drops	1 dose

Corporation and country made of vaccines: CEVA company, France

Table 3. Composition and calculated analysis of starter, grower, and finisher diets of broiler chickens

Diets	Starter (1-10 days)	Grower (11-24 days)	Finisher (25-35 days)
Ingredients (%)			
Yellow corn	51.2	56.0	61.5
Soya bean meal (46%)	41.3	36.0	30.5
Vegetable oil	3.0	3.5	3.7
Dicalcium phosphate	2.2	2.1	2.1
Limestone	0.8	0.9	0.9
NaCl (salt)	0.4	0.4	0.4
DL-Methionine	0.3	0.3	0.3
Permixon*	0.4	0.4	0.3
L-lysine-Hcl	0.2	0.2	0.2
Threonine	0.1	0.2	0.1
Antitoxin	0.1	0	0
Anti-clostridium	0	0	0
Antibiotic	0	0	0
Total	100	100	100
Calculated values			
Crude protein (%)	23.0	21.0	19.0
Crude fat (%)	5.4	6.0	6.4
ME (Kcal/Kg)	2972.7	3056.2	3127.7
Crude fiber (%)	4.1	3.9	3.6
Calcium (%)	0.9	1.0	0.9
Total P (%)	0.8	0.8	0.7
Available P (%)	0.5	0.5	0.5
Lysine (%)	1.4	1.3	1.1
Methionine (%)	0.7	0.6	0.6
Methionine + Cystine (%)	1.0	1.0	0.9
Threonine (%)	1.0	0.9	0.8
Ash (%)	6.3	6.0	5.7

*Each gram premix contained: vitamin A (transretinyl acetate) 9,000 IU; vitamin D3 (cholecalciferol) 2,600 IU; vitamin E (dl- α -tocopheryl acetate) 16 mg; vitamin B1, 1.6 mg; vitamin B2, 6.5 mg; vitamin B6, 2.2 mg; vitamin B12 (cyanocobalamin), 0.015 mg; vitamin K3, 2.5mg; choline (choline chloride) 300 mg; nicotinic acid 30 mg; pantothenic acid (d-calcium pantothenate) 10 mg; folic acid 0.6 mg; biotin 0.07 mg; manganese (MnO) 70 mg; zinc (ZnO) 60 mg; iron (FeSO₄ H₂O) 40 mg; copper (CuSO₄ 5H₂O) 7 mg; iodine (Ca(IO₃)₂) 0.7 mg; selenium (Na₂SeO₃) 0.3 mg.

Prebiotic

Each liter of prebiotic contains 62.5 g of Mannan-oligo saccharide and 62.5 gm of B-Glucan. Prebiotics were added to the water for 8 hours per day from day 8 until the end of the experiment.

Data collection

Productive performance

The body weight (BW) of the chickens and feed consumption of each group were recorded weekly, and then the Feed Conversion Ratio (FCR) was estimated. European Production Efficiency Factor (EPEF) was calculated at the end of the experiment according to Equation 1:

$$\text{European Production Efficiency Factor} = [\text{Livability} \% \times \text{BW (kg)} / \text{Age (d)} \times \text{FCR}] \times 100$$

Carcass characteristics

After 35 days of age, 10 chickens were randomly selected from each batch, weighed, slaughtered, blood filtered, feathered, and then eviscerate. Dressing, front part, hind part, liver, gizzard, heart, spleen, bursa of fabricius, and thymus were weighed, and the relative

weight was calculated.

Hematological and oxidative stress parameters

Blood samples were randomly collected at 35 days of age from 10 chickens from each group. The volume of samples was two ml and they were collected from the wing vein, without anticoagulant into a clean centrifuge tube. Three ml of heparinized blood samples were centrifuged at 2500 rpm for 15 minutes (Dacie and Lewis, 1991). Individual plasma samples were stored in a deep freezer at -20°C until the biochemical analysis.

Hemoglobin value and packed cell volume

The hemoglobin concentration (g /100 ml blood) was determined by the spectrophotometer (Jenway, United Kingdom). Packed cell volume was determined by using microhematocrit tubes, blood centrifuged at 4000 rpm/minute for 10 minutes, and the mean of the reading obtained was recorded (Dacie and Lewis, 1991).

Total antioxidant capacity and malondialdehyde

Plasma samples were assayed for Total antioxidant

capacity (T-AOC), and Malondialdehyde (MDA) was determined with a spectrophotometer by Colorimetric Method using commercial detection kits (Diamond Biodiagnostic, Egypt)

Statistical analysis

Enumeration data of the mortality and relative organ weight were tested by the Arcsine transformation method (Roger, 2013). A two-way analysis of variance was used to analyze the data by the least squares procedure of the general linear model (GLM) of SAS program (SAS, 2014). Sources of variation were stocking density and prebiotic supplementation. The separation of means was done using Duncan's multiple range test (Duncan, 1955) for comparisons among the significant means ($p < 0.05$).

RESULTS AND DISCUSSION

Productive performance

Live body weight

The results of the present study in Table 4 showed that there was a negative relationship between stocking density and BW throughout the experimental period. The low density had a significantly ($p < 0.05$) higher BW than those of medium and high density. Significant differences ($p < 0.05$) in BW were observed between medium and high density at one, four, and five weeks of age, while at two and three weeks of age, no significant differences were observed ($p < 0.05$). Kridtayopas et al. (2019) consider high stocking density as a stress factor which in turn leads to reduced growth performance, gut bacteria, and intestinal morphology. It was reported that high stocking density could decrease final body weight at 42 days (Sekeroglu et al., 2009). In the same line, Tong et al. (2012) found that increasing stocking density decreased body weight and weight gain. Likewise, Ali (2013) obtained that the highest body weight and daily body weight gain were recorded in the lowest density.

The current results also explain that prebiotic supplementation significantly improved body weight throughout the experimental period ($p < 0.05$). This result agrees with Chae et al. (2006), who reported that weight gain improved due to adding β -glucan supplementation to the broiler chicken diet. In addition, Abdel-Hafeez et al. (2017) reported that birds fed a diet supplemented with prebiotics had a greater body weight. Xu et al. (2003) indicated that feeding broilers diet containing 0.4% fracto-oligosaccharides (FOS) increased the average daily gain. In another study, Shendare et al. (2008) recorded

that the BW of broiler chickens fed a diet with 0.01% mannan-oligosaccharide (MOS) was higher as compared to the control group. Likewise, El-Sheikh et al. (2009) reported that adding 0.2% MOS to the diet of Mandarrah hens increased BW and BWG. Tavaniello et al. (2018) found that prebiotics increased broiler's BW irrespective of 3 different routes of delivery (*in ovo*, in water, and *in ovo* + in water) as compared to the control group. In addition, Nikpiran et al. (2014) reported that using Fermacto® as a prebiotic at a level of 1.6 g/kg in quail's diet had increased body weight as compared to the control group. Nikpiran et al. (2013b) found that body weight was higher than the control group when they added 1 g/kg Thepax (prebiotic) to the Japanese Quails diet. Babazadeh et al. (2011) reported that the body weight of quail that fed a diet containing 1.6 g/kg (*Aspergillus* meal) as a prebiotic at a level of was higher than the control group.

Feed consumption

The results of the current study showed that stocking density and the interaction with prebiotics had a significantly higher ($p < 0.05$) weekly and total feed consumption during the experiment period, while prebiotics improved weekly feed consumption for the second, third weeks, and the total feed consumption (Table 5). The Lower stocking density resulted in a significant increase ($p < 0.05$) in weekly feed consumption at one and five weeks of age, while at three and four weeks of age, medium groups consumed the highest amount of feed, on the other hand, during the second week the high-density group consumed significantly more feed as compared with other groups ($p < 0.05$). The interaction effect showed that adding 1 cm β -glucan+MOS /liter drinking water had a contradicting effect on daily feed consumption.

These results agree with previous studies by Dozier et al. (2005); Dozier et al. (2006) reported that feed intake was negatively affected by increasing stocking density (Dozier et al., 2005; Dozier et al., 2006). In the same line, Tong et al. (2012) reported that daily feed intake reduced significantly as density increased. Likewise, Cengiz et al. (2015) indicated that feed intake was significantly decreased at high stocking density (20 birds/m²) as compared with low stocking density (10 birds/m²). Heidari et al. (2018) found that feed intake had reduced due to increasing stocking density from 12 to 18 birds/m². Recently, Miao et al. (2021) demonstrated that high stocking density (20 birds/m²) significantly decreased feed intake as compared with low stocking density 14 birds/m².

The current results indicated that prebiotic

supplementation did not affect feed consumption. These results are in agreement with Benites et al. (2008), who found that the addition of Mannan Oligosaccharide from Bio-Mos (1.0 kg/ton or 0.5 kg/ton) and SAF-Mannanto (0.5 kg/ton) in broiler's diets had no significant effect on feed consumption. Also, Sohail et al. (2013) reported that 0.5% MOS had no significant effect on feed consumption when the broilers were reared under heat stress. Güçlü (2011) fed a Japanese quail diet for 12 weeks with different levels of MOS 0.5 and 1 kg/ton, and they found that prebiotics had no significant effect on feed consumption. Likewise, Iqbal et al. (2017) fed Japanese quail diets supplemented with 0.25%, 0.50%, and 1.0% MOS for 15 weeks, and they found no significant effect on feed intake. And disagree with Piray et al. (2007), who showed that prebiotics increased feed intake during 0-42 days of age. Likewise, it was reported that dietary prebiotic supplementation of 0.5 g mannan oligosaccharide/kg from the first day of age until 42 days of age improved feed consumption (Bozkurt et al., 2009). Abdel-Raheem et al. (2011) reported that cumulative feed intake had increased for birds fed a diet with MOS 2 g/kg in the starter phase and 0.5 g/kg in the grower phase compared to control groups. Also, Rehman et al. (2020) reported that using MOS as a prebiotic in broiler chickens' diet with different levels (0, 1, and 1.5 g/kg) had improved feed intake.

Feed conversion ratio

The current results explained that increasing density resulted in a negative effect on the commutative feed conversion ratio, the best value was recorded when stocking density was 10 birds/m² at four and five weeks of age (Table 6). The interaction showed that the low-

density group supplemented with prebiotics had the best FCR compared with other groups. The current results agree with the finding of Guardia et al. (2011), who reported that increasing stocking density from 12 to 17 birds/m² had a negative effect on FCR and reduced growth performance. Palizdar et al. (2017) found that increasing stocking density had increased FCR, which was the highest value at 21.3 birds/m². Abo-Ghanima et al. (2021) indicated that total FCR increased due to increasing stocking density from 25 to 40 kg/m².

The current results also explained that cumulative FCR was improved when birds were supplemented with prebiotics. Bozkurt et al. (2009) reported that improving feed conversion was due to stimulated growth of the beneficial microflora in the GIT induced by prebiotic 0.5 g mannan oligosaccharide/kg. Nikpiran et al. (2013a) observed an improvement in broiler performances and FCR due to adding prebiotic Turbo Tox® (1 g/kg) to the diet. In the same line, Waqas et al. (2019) observed an improvement in FCR due to adding MOS 0.2, 0.4, and 0.6 g/Kg. Likewise, Abd-Elsamee et al. (2021) reported that FCR significantly improved when broilers fed diets supplemented with a combination of β -glucan + MOS from yeast or mushroom at rates of 0.01%, 0.02% and 0.03% as compared to control. Nikpiran et al. (2014) reported that FCR had improved due to using Fermacto® as a prebiotic at a level of 1.6 g/kg in the quail's diet as compared to the control group. Nikpiran et al. (2013b) found that FCR had improved due to adding 1 g/kg Thepax to the Japanese Quails diet. Adding prebiotics (*Aspergillus* meal) at a 1.6 g/kg level to a quail diet improved FCR (Babazadeh et al. 2011).

Table 4. Least-square means $\pm$ SE of broiler chickens' body weight affected by density, prebiotic, and their interaction at day 35 of age

Items	BW0 (g)	BW1 (g)	BW2 (g)	BW3 (g)	BW4 (g)	BW5 (g)
Density						
10 birds/m ²	49.92 $\pm$ 0.27	218.61 $\pm$ 1.54 ^a	518.47 $\pm$ 4.44 ^a	1022.29 $\pm$ 8.87 ^a	1578.21 $\pm$ 12.64 ^a	2190.98 $\pm$ 21.69 ^a
13 birds/m ²	48.80 $\pm$ 0.23	209.06 $\pm$ 1.24 ^b	504.94 $\pm$ 3.00 ^b	1004.16 $\pm$ 6.09 ^b	1530.59 $\pm$ 9.08 ^b	2011.90 $\pm$ 17.66 ^b
15 birds/m ²	49.62 $\pm$ 0.21	203.02 $\pm$ 0.94 ^c	510.48 $\pm$ 2.36 ^b	1007.85 $\pm$ 4.46 ^b	1483.01 $\pm$ 6.22 ^c	1842.39 $\pm$ 13.19 ^c
Prebiotic						
0 Prebiotic	49.37 $\pm$ 0.19	208.36 $\pm$ 1.03 ^b	506.84 $\pm$ 2.91 ^b	1008.60 $\pm$ 5.37 ^b	1514.94 $\pm$ 6.21 ^b	1943.32 $\pm$ 14.34 ^b
1cm/liter water Prebiotic	49.48 $\pm$ 0.19	210.02 $\pm$ 1.02 ^a	514.64 $\pm$ 2.18 ^a	1012.29 $\pm$ 4.78 ^a	1533.63 $\pm$ 8.62 ^a	2041.18 $\pm$ 15.96 ^a
Interaction						
10 birds/m ² *0 Prebiotic	49.97 $\pm$ 0.36	217.58 $\pm$ 2.22 ^a	511.03 $\pm$ 7.70 ^b	1004.33 $\pm$ 14.18 ^c	1543.46 $\pm$ 12.47 ^b	2188.75 $\pm$ 28.28 ^b
10 birds/m ² *1cm/liter water	49.88 $\pm$ 0.40	219.65 $\pm$ 2.15 ^a	525.91 $\pm$ 4.36 ^a	1040.25 $\pm$ 10.46 ^a	1634.96 $\pm$ 20.80 ^a	2203.32 $\pm$ 33.00 ^a
13 birds/m ² *0 Prebiotic	48.70 $\pm$ 0.35	206.97 $\pm$ 2.00 ^c	501.36 $\pm$ 4.59 ^c	1005.30 $\pm$ 8.48 ^c	1537.43 $\pm$ 11.66 ^c	1887.24 $\pm$ 21.67 ^d
13 birds/m ² *1cm/liter water	48.91 $\pm$ 0.32	211.15 $\pm$ 1.47 ^b	508.51 $\pm$ 3.87 ^b	1003.03 $\pm$ 8.77 ^c	1523.75 $\pm$ 13.94 ^d	2137.38 $\pm$ 23.97 ^c
15 birds/m ² *0 Prebiotic	49.55 $\pm$ 0.28	203.38 $\pm$ 1.10 ^d	508.66 $\pm$ 3.46 ^b	1014.22 $\pm$ 6.46 ^b	1491.61 $\pm$ 8.52 ^f	1832.50 $\pm$ 17.85 ^f
15 birds/m ² *1cm/liter water	49.70 $\pm$ 0.31	202.66 $\pm$ 1.54 ^d	512.30 $\pm$ 3.21 ^b	1001.47 $\pm$ 6.14 ^c	1474.42 $\pm$ 9.04 ^e	1852.23 $\pm$ 19.43 ^e

^{a-f} Mean, within a column, with different superscripts are significantly different (p < 0.05)

Table 5. Least-square means $\pm$ SE of broiler chickens' weekly feed intake affected by stocking density, prebiotic, and their interaction at day 35 of age

Items	FW1 (g)	FW2 (g)	FW3 (g)	FW4 (g)	FW5 (g)	TF (g)
Density						
10 birds/m ²	196.37 $\pm$ 1.37 ^a	407.82 $\pm$ 4.71 ^b	738.37 $\pm$ 7.95 ^b	952.63 $\pm$ 11.38 ^b	995.81 $\pm$ 27.37 ^a	3094.68 $\pm$ 42.46 ^a
13 birds/m ²	179.87 $\pm$ 1.04 ^b	408.62 $\pm$ 1.64 ^b	753.08 $\pm$ 3.88 ^a	968.96 $\pm$ 11.62 ^a	949.90 $\pm$ 32.14 ^b	3080.56 $\pm$ 41.74 ^a
15 birds/m ²	177.12 $\pm$ 0.39 ^b	431.35 $\pm$ 2.86 ^a	697.37 $\pm$ 7.47 ^c	931.77 $\pm$ 15.24 ^c	911.05 $\pm$ 34.60 ^c	2971.55 $\pm$ 50.60 ^b
Prebiotic						
0 Prebiotic	184.58 $\pm$ 2.90	412.44 $\pm$ 5.04 ^b	726.77 $\pm$ 10.67 ^b	952.19 $\pm$ 10.37	946.28 $\pm$ 29.02	3037.71 $\pm$ 40.81 ^b
1cm/liter water Prebiotic	184.33 $\pm$ 2.45	419.42 $\pm$ 2.82 ^a	732.45 $\pm$ 6.52 ^a	950.05 $\pm$ 12.05	958.22 $\pm$ 25.17	3060.15 $\pm$ 38.10 ^a
Interaction						
10 birds/m ² *0 Prebiotic	197.50 $\pm$ 2.32 ^a	399.62 $\pm$ 6.93 ^c	737.70 $\pm$ 13.19 ^c	944.77 $\pm$ 18.69 ^c	1002.25 $\pm$ 41.64 ^a	3084.38 $\pm$ 62.52 ^b
10 birds/m ² *1cm/liter water	195.25 $\pm$ 1.60 ^a	416.02 $\pm$ 3.28 ^b	739.05 $\pm$ 11.01 ^c	960.50 $\pm$ 14.65 ^b	989.37 $\pm$ 41.66 ^b	3104.98 $\pm$ 66.59 ^a
13 birds/m ² *0 Prebiotic	178.75 $\pm$ 1.93 ^c	406.02 $\pm$ 2.15 ^d	757.72 $\pm$ 1.08 ^a	971.60 $\pm$ 22.25 ^a	946.67 $\pm$ 50.88 ^c	3082.03 $\pm$ 72.51 ^b
13 birds/m ² *1cm/liter water	181.00 $\pm$ 0.70 ^b	411.22 $\pm$ 1.85 ^c	748.45 $\pm$ 7.41 ^b	966.32 $\pm$ 11.45 ^a	953.12 $\pm$ 47.17 ^c	3079.10 $\pm$ 53.58 ^b
15 birds/m ² *0 Prebiotic	177.50 $\pm$ 0.28 ^c	431.67 $\pm$ 5.97 ^a	684.90 $\pm$ 11.65 ^c	940.20 $\pm$ 12.13 ^c	889.92 $\pm$ 53.27 ^e	2946.73 $\pm$ 70.83 ^d
15 birds/m ² *1cm/liter water	176.75 $\pm$ 0.75 ^d	431.02 $\pm$ 1.62 ^a	709.85 $\pm$ 4.62 ^d	923.35 $\pm$ 29.84 ^d	932.17 $\pm$ 49.52 ^d	2996.38 $\pm$ 80.75 ^c

^{a-c}Mean, within a column, with different superscripts are significantly different ($p < 0.05$). FW: Weekly feed intake, TF: Total feed intake.

Table 6. Least-square means $\pm$ SE of broiler chickens' weekly cumulative feed conversion ratio affected by stocking density, prebiotic, and their interaction at day 35 day of age

Items	FCR1	FCR2	FCR3	FCR4	FCR5
Density					
10 birds/m ²	0.90 $\pm$ 0.01 ^a	1.15 $\pm$ 0.01 ^b	1.31 $\pm$ 0.01 ^a	1.44 $\pm$ 0.02 ^b	1.50 $\pm$ 0.02 ^c
13 birds/m ²	0.86 $\pm$ 0.01 ^b	1.16 $\pm$ 0.01 ^b	1.33 $\pm$ 0.01 ^a	1.51 $\pm$ 0.01 ^a	1.62 $\pm$ 0.04 ^b
15 birds/m ²	0.87 $\pm$ 0.01 ^b	1.19 $\pm$ 0.01 ^a	1.29 $\pm$ 0.01 ^b	1.50 $\pm$ 0.01 ^a	1.71 $\pm$ 0.01 ^a
Prebiotic					
0 Prebiotic	0.88 $\pm$ 0.01	1.17 $\pm$ 0.01	1.31 $\pm$ 0.01	1.49 $\pm$ 0.01	1.64 $\pm$ 0.03 ^a
1cm/liter water Prebiotic	0.87 $\pm$ 0.01	1.17 $\pm$ 0.01	1.31 $\pm$ 0.01	1.48 $\pm$ 0.01	1.58 $\pm$ 0.03 ^b
Interaction					
10 birds/m ² *0 Prebiotic	0.91 $\pm$ 0.01 ^a	1.14 $\pm$ 0.01 ^c	1.32 $\pm$ 0.02 ^b	1.48 $\pm$ 0.03 ^b	1.50 $\pm$ 0.03 ^c
10 birds/m ² *1cm/liter water	0.89 $\pm$ 0.01 ^b	1.16 $\pm$ 0.01 ^b	1.30 $\pm$ 0.01 ^b	1.41 $\pm$ 0.01 ^c	1.50 $\pm$ 0.03 ^c
13 birds/m ² *0 Prebiotic	0.86 $\pm$ 0.01 ^d	1.16 $\pm$ 0.01 ^b	1.34 $\pm$ 0.01 ^a	1.50 $\pm$ 0.01 ^b	1.73 $\pm$ 0.03 ^a
13 birds/m ² *1cm/liter water	0.85 $\pm$ 0.01 ^d	1.16 $\pm$ 0.01 ^b	1.33 $\pm$ 0.01 ^a	1.51 $\pm$ 0.01 ^a	1.52 $\pm$ 0.01 ^c
15 birds/m ² *0 Prebiotic	0.87 $\pm$ 0.01 ^c	1.20 $\pm$ 0.03 ^a	1.27 $\pm$ 0.01 ^c	1.49 $\pm$ 0.01 ^b	1.70 $\pm$ 0.01 ^b
15 birds/m ² *1cm/liter water	0.87 $\pm$ 0.01 ^c	1.18 $\pm$ 0.01 ^a	1.31 $\pm$ 0.01 ^b	1.52 $\pm$ 0.02 ^a	1.71 $\pm$ 0.04 ^a

^{a-d}Mean, within a column, with different superscripts are significantly different ($p < 0.05$). FCR: feed conversion ratio

Table 7. Least-square means $\pm$ SE of broiler chickens' carcass traits affected by stocking density, prebiotic, and their interaction at 35 day of age

Items	Dressing W (%)	Front part (%)	Hind part (%)	Liver W (%)	Heart W (%)	Gizzard W (%)
Density						
10 birds/m ²	71.24 $\pm$ 0.57	41.58 $\pm$ 0.78	29.70 $\pm$ 0.76	2.40 $\pm$ 0.07	0.46 $\pm$ 0.02	1.99 $\pm$ 0.06
13 birds/m ²	70.84 $\pm$ 0.53	41.11 $\pm$ 0.87	29.79 $\pm$ 0.61	2.62 $\pm$ 0.07	0.5 $\pm$ 0.02	2.01 $\pm$ 0.07
15 birds/m ²	71.44 $\pm$ 0.61	40.85 $\pm$ 0.63	30.59 $\pm$ 0.33	2.47 $\pm$ 0.11	0.48 $\pm$ 0.02	2.15 $\pm$ 0.12
Prebiotic						
0 Prebiotic	71.37 $\pm$ 0.46	41.31 $\pm$ 0.56	29.94 $\pm$ 0.52	2.43 $\pm$ 0.05	0.48 $\pm$ 0.01	2.04 $\pm$ 0.05
1cm/liter water Prebiotic	70.98 $\pm$ 0.47	41.05 $\pm$ 0.67	30.11 $\pm$ 0.45	2.57 $\pm$ 0.08	0.48 $\pm$ 0.01	2.07 $\pm$ 0.09
Interaction						
10 birds/m ² *0 Prebiotic	72.14 $\pm$ 0.85	42.40 $\pm$ 1.35	29.18 $\pm$ 1.41	2.43 $\pm$ 0.12	0.47 $\pm$ 0.04	2.01 $\pm$ 0.07
10 birds/m ² *1cm/liter water	70.34 $\pm$ 0.70	40.75 $\pm$ 0.77	30.22 $\pm$ 0.64	2.36 $\pm$ 0.07	0.45 $\pm$ 0.01	1.98 $\pm$ 0.11
13 birds/m ² *0 Prebiotic	70.38 $\pm$ 0.52	40.48 $\pm$ 0.63	30.16 $\pm$ 0.65	2.57 $\pm$ 0.07	0.49 $\pm$ 0.01	2.14 $\pm$ 0.09
13 birds/m ² *1cm/liter water	71.30 $\pm$ 0.94	41.75 $\pm$ 1.64	29.42 $\pm$ 1.07	2.68 $\pm$ 0.14	0.51 $\pm$ 0.04	1.89 $\pm$ 0.10
15 birds/m ² *0 Prebiotic	71.58 $\pm$ 0.92	41.05 $\pm$ 0.83	30.47 $\pm$ 0.37	2.29 $\pm$ 0.08	0.49 $\pm$ 0.02	1.96 $\pm$ 0.12
15 birds/m ² *1cm/liter water	71.29 $\pm$ 0.85	40.64 $\pm$ 0.99	30.70 $\pm$ 0.57	2.66 $\pm$ 0.20	0.48 $\pm$ 0.03	2.34 $\pm$ 0.20

^{a-b}Mean, within a column, with different superscripts are significantly different ($p < 0.05$). W: Weight

Table 8. Least-square means $\pm$ SE of broiler chickens' lymphoid organs affected by density, prebiotic, and their interaction at day 35 of age

Items	Spleen W (%)	Thymus W (%)	Bursa of fabricius W (%)
Density			
10 birds/m ²	0.11 $\pm$ 0.007	0.79 $\pm$ 0.02 ^c	0.08 $\pm$ 0.007
13 birds/m ²	0.12 $\pm$ 0.008	0.93 $\pm$ 0.02 ^b	0.09 $\pm$ 0.005
15 birds/m ²	0.12 $\pm$ 0.007	0.99 $\pm$ 0.01 ^a	0.11 $\pm$ 0.002
Prebiotic			
0 Prebiotic	0.12 $\pm$ 0.005	0.90 $\pm$ 0.02	0.09 $\pm$ 0.004
1cm/liter water Prebiotic	0.12 $\pm$ 0.006	0.91 $\pm$ 0.02	0.10 $\pm$ 0.005
Interaction			
10 birds/m ² *0 Prebiotic	0.12 $\pm$ 0.001	0.78 $\pm$ 0.03	0.08 $\pm$ 0.001
10 birds/m ² *1cm/liter water	0.11 $\pm$ 0.006	0.80 $\pm$ 0.03	0.08 $\pm$ 0.009
13 birds/m ² *0 Prebiotic	0.12 $\pm$ 0.001	0.93 $\pm$ 0.03	0.09 $\pm$ 0.005
13 birds/m ² *1cm/liter water	0.11 $\pm$ 0.001	0.92 $\pm$ 0.02	0.10 $\pm$ 0.001
15 birds/m ² *0 Prebiotic	0.11 $\pm$ 0.004	0.98 $\pm$ 0.02	0.10 $\pm$ 0.002
15 birds/m ² *1cm/liter water	0.13 $\pm$ 0.001	1.01 $\pm$ 0.02	0.11 $\pm$ 0.004

^{a-b} Mean, within a column, with different superscripts are significantly different ($p < 0.05$). W: Weight.

Carcass traits

The results of carcass traits in Table 7 showed that neither stocking density nor prebiotic supplementation affect the relative weight of all carcass trait parameters in the current experiment. The current results are in agreement with those of Thomas et al. (2004), who reported that stocking density did not affect the carcass traits significantly. In addition, Sekeroglu et al. (2011) indicated that stocking density had no significant effect on the percentage of carcass yield. On the other hand, Dozier et al. (2006); Onbasilar et al. (2008) reported that high stocking densities had a negative effect on final body weight. On the other hand, Yalçinkaya et al. (2012) found that adding 1 g/kg MOS to the broiler diet did not affect the percentage of carcass yield. However, Tavaniello et al. (2018) reported that prebiotics positively affected breast muscle weight and yield and can positively affect carcass traits and meat quality. Piray et al. (2007) revealed a positive effect on carcass quality when broiler chickens were fed prebiotic fermento at the level of 1.5 and 3 g/kg, compared to the control group. Ahiwe et al. (2019) reported that adding yeast mannan (YM) at 0.15 or 0.20 g/kg to broiler chickens' diet significantly improved the dressing percentage as compared to the control group. The results of Simitzis et al. (2012) demonstrated that the stocking density of 13 birds/m² had a lower liver weight than that of 6 birds/m². Sekeroglu et al. (2011) reported that stocking density did not significantly affect liver or heart weights. Waqas et al. (2019) reported that the

weight of the liver, gizzard, and heart was higher in birds receiving 0.6 g/Kg of MOS than those of the control group. Waqas et al. (2019) found that gizzard, heart, and liver percentages were increased in birds fed 0.6 g/Kg of MOS compared to those fed a control diet. Also, Rehman et al. (2020) found that using three levels of MOS in a broiler's diet had significant effects on liver, heart, and gizzard weights.

Lymphoid organs

The results of lymphoid organs in Table 8 demonstrated that neither stocking density nor prebiotic supplementation affected the relative weight of the spleen and bursa of Fabricius. However, the relative weight of the thymus was significantly increased with the increase in stocking density ($p < 0.05$). Houshmand et al. (2012) reported that the spleen and bursa of Fabricius weights did not significantly affect by stocking density. Likewise, Azzam and El-Gogary (2015) reported that stocking density had no significant effect on the bursa of Fabricius or spleen weights. Thymus weight did not affect by increasing stocking density, and the highest weight was for the medium density 20.35 g, while low and high density was 19.20 and 19.85 g, respectively. The results agree with Tong et al. (2012), who reported that different stocking densities had no significant effect on thymus weight. Thymus weight did not affect by increasing stocking density, and the highest weight was for the medium density 20.35 g, while low and high density was 19.20 and 19.85 g, respectively. Qaid et al. (2016)

reported that the relative weights of the thymus did not affect by stocking density. In addition, Houshmand et al. (2012) reported that adding prebiotics (Bio-Mos) to the starter and finisher diets at 2 and 1 g/kg, respectively, had no significant effect on the spleen or bursa of Fabricius weights. Guo et al. (2003) reported that adding β -Glucan to the diet had increased the relative weights of the spleen, thymus, and bursa as compared to the control. Usama et al. (2018) added β -Glucan + MOS to the diet, had increased the percentage of lymphoid organs. Chand et al. (2019) obtained that the relative weight of the thymus, spleen, and bursa of Fabricius was significantly increased due to adding 100 g/kg MOS to the broiler diet as compared to the control group. On the other hand, Simitzis et al. (2012) reported that increasing stocking density from 6 to 13 birds/m² decreased spleen weight and high density had lower weights of spleen and bursa of Fabricius than those in low density. In addition, Ali (2013) reported that high stocking density had reduced the bursa of Fabricius weight and its percentage at day 42 of age.

Hematological parameters

Hemoglobin and packed cell volume

The hemoglobin concentration of chickens at medium density was significantly higher than those of the other densities ($p < 0.05$, Table 9). On the other hand, birds at low density had significantly the lowest value ($p < 0.05$). These results disagreed with Sekeroglu et al. (2011), who found that stocking density had no significant effect on hemoglobin.

The current study showed that supplementation significantly increased the Hg value from 7.05 g/dl to 6.24 g/dl, compared to the control group. The interaction between the density and prebiotic showed that all densities had been affected by adding the prebiotic supplement and had a higher value than those un-supplemented group. The results agreed with those of Mohammed et al. (2016) and Oni et al. (2020) reported that prebiotic supplementation improved hemoglobin value compared to the control group.

There was a significant effect due to stocking density and their interaction on PCV, while prebiotics had no significant effect as compared to low-density and un-supplemented groups. Broiler chickens at high and low stocking density almost had the same PCV value, and it was higher than the medium density value ($p < 0.05$). In the present study, the interaction showed that adding prebiotics to low and high-density birds improved

PCV values. AL-Kassie et al. (2008) reported that when the prebiotic was added to the broiler chickens' diet at 10 g/kg increased the percentage of PCV at day 42 of age. Muhammad et al. (2020) and Tarabees et al. (2021) found that adding Isomalto-oligosaccharides 0.5 g/kg to broiler chickens' diet had no significant effect on hemoglobin or PCV.

Oxidative stress parameters

Total antioxidant capacity

Stocking density, prebiotic, and their interaction had a significant effect on TAOC in chickens reared in low density which had the significantly highest level of TOAC followed by those at high and then medium density ($p < 0.05$, Table 9). This result is in agreement with those reported by Zhao et al. (2009) and Cai et al. (2019), that stress caused by high stocking density influenced the antioxidant status of broiler chickens. The results of Wang et al. (2021) demonstrated that adding 200 mg/Kg apple pectic oligosaccharide to breeder chickens' diet increased TAOC values.

Malondialdehyde

The results showed that MDA raised due to the increase in stocking density. Chickens in low density had significantly the lowest value, while MDA in those in medium and high density had almost high concentrations ($p < 0.05$). These results agreed with Simsek et al. (2009), who reported that stocking density of up to 22 birds/m² may lead to oxidative stress and MDA increased when the stocking density increased.

On the other hand, the results demonstrated that prebiotic supplementation had no effect on MDA ($p < 0.05$). The interaction between density and prebiotic refers to contradicted results. The results were in agreement with those of Tarabees et al. (2021), who found that prebiotic Isomalto-oligosaccharides had no significant effect on MDA. However, Zhou et al. (2019) noted a decrease in MDA content when they added MOS at levels of 0.5, 1, and 1.5 g/kg to the diet.

European production efficiency factor

The best significant value of EPEF was found at the low density of (415.83) followed by those in 13 bird/m² and then in 15 bird/m² ($p < 0.05$, Table 10). Gholami et al. (2020) conducted a study to evaluate the effect of stocking density on broiler chicken performance and economic profit. They found that the stocking density significantly affected economic income when the study included four densities of 10, 15, 17, and 20 chicks/m²,

and the highest earnings were a density of 20 chicks/m². Nasr et al. (2021) studied the impact of stocking density on growth performance to recommend a better density with low production cost and high quality. They found that the medium density of 18 birds/m² revealed better performance and the best from the economic point of view than the high density of 20 birds/m². Adding prebiotics to the broiler chicken diet positively affected the European production efficiency factor and increased the value to 372.25 compared with the control 341.24. Lowry et al. (2005) reported that using β -glucan as a prebiotic in the diet for broilers challenged with

Salmonella had decreased mortality rate and economic loss for broiler chickens. Waqas et al. (2019) added different levels of MOS 0.2, 0.4, and 0.6 g/Kg to broiler chicken's diet. They found that the broilers diet with 0.6 g/kg MOS led to the best profit percentage per 1 Kg of meat as compared with the control. In addition, Ibrahim et al. (2021) reported that adding prebiotic AGRIMOS (a high source of mannan oligosaccharides and β glucans) at a level of 0.1% to broiler chicken diets low in protein (95, 90, and 85% of NRC) has a useful effect on economic value.

Table 9. Least-square means $\pm$ SE of hematological and oxidative stress parameters affected by broiler chickens' density, prebiotic, and their interaction at day 35 of age

Items	Hg (g/dL)	PCV (%)	TAOC (mM / L)	MDA (nmol/ml)
Density				
10 birds/m ²	5.53 $\pm$ 0.24 ^c	28.05 $\pm$ 1.40 ^a	0.32 $\pm$ 0.02 ^a	16.81 $\pm$ 1.81 ^b
13 birds/m ²	7.47 $\pm$ 0.37 ^a	26.80 $\pm$ 0.97 ^b	0.12 $\pm$ 0.01 ^c	18.51 $\pm$ 0.75 ^a
15 birds/m ²	6.92 $\pm$ 0.27 ^b	28.45 $\pm$ 0.84 ^a	0.14 $\pm$ 0.01 ^b	18.06 $\pm$ 1.40 ^a
Prebiotic				
0 Prebiotic	6.24 $\pm$ 0.25 ^b	27.36 $\pm$ 0.96	0.16 $\pm$ 0.02 ^b	17.80 $\pm$ 1.22
1cm/liter water Prebiotic	7.05 $\pm$ 0.30 ^a	28.16 $\pm$ 0.82	0.23 $\pm$ 0.02 ^a	17.78 $\pm$ 1.04
Interaction				
10 birds/m ² *0 Prebiotic	5.01 $\pm$ 0.26 ^c	25.50 $\pm$ 2.45 ^d	0.27 $\pm$ 0.02 ^b	14.57 $\pm$ 2.33 ^c
10 birds/m ² *1cm/liter water	6.06 $\pm$ 0.35 ^b	30.60 $\pm$ 0.90 ^a	0.38 $\pm$ 0.03 ^a	19.05 $\pm$ 2.69 ^a
13 birds/m ² *0 Prebiotic	7.17 $\pm$ 0.39 ^a	27.30 $\pm$ 1.21 ^c	0.09 $\pm$ 0.01 ^d	19.12 $\pm$ 0.89 ^a
13 birds/m ² *1cm/liter water	7.78 $\pm$ 0.63 ^a	26.30 $\pm$ 1.57 ^c	0.15 $\pm$ 0.02 ^c	17.89 $\pm$ 1.25 ^b
15 birds/m ² *0 Prebiotic	6.54 $\pm$ 0.35 ^b	29.30 $\pm$ 0.84 ^b	0.14 $\pm$ 0.02 ^c	19.71 $\pm$ 2.49 ^a
15 birds/m ² *1cm/liter water	7.31 $\pm$ 0.41 ^a	27.60 $\pm$ 1.45 ^c	0.14 $\pm$ 0.01 ^c	16.40 $\pm$ 1.19 ^b

^{a-b} Mean, within a column, with different superscripts are significantly different ($p < 0.05$). TAOC: Total antioxidant capacity, MDA: Malondialdehyde, Hg: Hemoglobin, PCV: Packed cell volume

Table 10. Least-square means $\pm$ SE of European production efficiency factor affected by broiler chickens' density, prebiotic, and their interaction at 35th day of age

Items	EPEF (%)
Density	
10 birds/m ²	415.83 $\pm$ 15.44 ^a
13 birds/m ²	351.09 $\pm$ 19.30 ^b
15 birds/m ²	303.32 $\pm$ 10.51 ^c
Significant level	<.0001 ^{***}
Prebiotic	
0 Prebiotic	341.24 $\pm$ 17.46 ^b
1cm/liter water Prebiotic	372.25 $\pm$ 18.54 ^a
Significant level	0.0565 [*]
Interaction	
10 birds/m ² *0 Prebiotic	414.45 $\pm$ 19.06 ^a
10 birds/m ² *1cm/liter water	417.22 $\pm$ 27.36 ^a
13 birds/m ² *0 Prebiotic	307.23 $\pm$ 16.37 ^c
13 birds/m ² *1cm/liter water	394.96 $\pm$ 13.71 ^b
15 birds/m ² *0 Prebiotic	302.04 $\pm$ 6.39 ^c
15 birds/m ² *1cm/liter water	304.59 $\pm$ 21.77 ^c
Significant level	0.0530 [*]

^{a-c} Mean, within a column, with different superscripts are significantly different ($p < 0.05$). EPEF: European Production Efficiency Factor

CONCLUSION

It can conclude that adding prebiotics (Mannan-oligo saccharide and B-Glucan) can partially ameliorate the adverse effect of high stocking density on productive performance, physiological and oxidative stress parameters, and European production efficiency factor.

DECLARATION

Acknowledgments

All authors are thankful to the Professor of poultry physiology" Prof. Dr. Abdel-Rahman Mohamed Mohamed Atta" for the study idea and his effort in facilitating this trial. Sincere thanks to Miser Al-Rabiea for the poultry Company and Miser Arabian poultry company for funding the authors with chicks and Vaccines. Moreover, Ismailia Miser for the poultry company for funding the authors with the Basal diet.

Authors' contribution

Essam Mohamed Hassan Karar collected the data, performed the data analysis, and wrote the manuscript draft. Abdel-Rahman Mohamed Mohamed Atta for the study idea, designed the study and revised the manuscript. Mohamed Abdel-Rahman Abdel-Hamed El-Menawey was responsible for the scientific material collection used in the experiment and revised the manuscript. Hassan Bayoumi Ali Gharib was responsible for the laboratory analysis. All authors have read and approved the final data and manuscript.

Availability of data and materials

The original contributions presented in the study are included in the article/supplementary material. Further inquiries can be directed to the corresponding author/s.

Competing interests

All research authors agree to publish this research and do not have any conflict of interest.

Ethical consideration

This research was truthful and did not plagiarize or pattern any other papers or ideas. Any fabrication or falsification did not find in this research. This article or any scientific results did not submit to any journals.

REFERENCES

- Abdel-Hafeez HM, Saleh ESE, Tawfeek SS, Youssef IMI, and Abdel-Daim ASA (2017). Effects of probiotic, prebiotic, and synbiotic with and without feed restriction on performance, hematological indices and carcass characteristics of broiler chickens. *Asian-Australasian Journal of Animal Sciences*, 30(5): 672-682. DOI: <https://www.doi.org/10.5713/ajas.16.0535>
- Abdel-Raheem SM and Abd-Allah SMS (2011). The Effect of single or combined dietary supplementation of mannan oligosaccharide and probiotics on performance and slaughter characteristics of broilers. *International Journal of Poultry Science*, 10(11): 854-862. DOI: <https://www.doi.org/10.3923/ijps.2011.854.862>
- Abd-Elsamee MO, Abd-Elhakim AES, Elsharkawy RR, and Elsherif HMR (2021). Impact of using different sources and levels of β -glucan and mannan oligosaccharide on performance traits of broiler chicks. *Advances in Animal and Veterinary Sciences*, 9(11): 1851-1862. DOI: <https://www.doi.org/10.17582/journal.aavs/2021/9.11.1851.1862>
- Abo-Ghanima MM, Swelum AA, Shukry M, Ibrahim SA, Abd El-Hack ME, Khafaga AF, Alhimaidi AR, Ammari AA, El-Tarabily KA, and Younis MEM (2021). Impacts of tea tree or lemongrass essential oils supplementation on growth, immunity, carcass traits, and blood biochemical parameters of broilers reared under different stocking densities. *Poultry Science*, 100(11): 101443. DOI: <https://www.doi.org/10.1016/j.psj.2021.101443>
- Ahiwe EU, Omede AA, Abdallah ME, Chang'a EP, Al-Qahtani M, Gausi H, and Graham H, and Iji PA (2019). Response of broiler chickens to dietary supplementation of enzymatically hydrolyzed glucan or mannan yeast products. *Journal of Applied Poultry Research*, 28(4): 892-901. DOI: <https://www.doi.org/10.3382/japr/pfz047>
- Ali AHH (2013). Productive performance and immune response as affected by broiler stocking density. *Egyptian Poultry Science Journal*, 33(4): 795-804.
- Al-Kassie GAM, Al-Jumaa YMF, and Jameel YJ (2008). Effect of probiotic (*Aspergillus niger*) and prebiotic (*Taraxacum officinale*) on blood picture and biochemical properties of broiler chicks. *International Journal of Poultry Science*, 7(12): 1182-1184. DOI: <http://www.doi.org/10.3923/ijps.2008.1182.1184>
- Alloui MN, Szczurek W, and Świątkiewicz S (2013). The usefulness of prebiotics and probiotics in modern poultry nutrition: A review. *Annals of Animal Science*, 13(1): 17-32. DOI: <https://www.doi.org/10.2478/v10220-012-0055-x>
- Azzam MMM and El-Gogary MR (2015). Effects of dietary threonine levels and stocking density on the performance, metabolic status and immunity of broiler chickens. *Asian Journal of Animal and Veterinary Advances*, 10(5): 215-225. DOI: <https://www.doi.org/10.3923/ajava.2015.215.225>
- Babazadeh D, Vahdatpour T, Nikpiran H, Jafargholipour MA, and Vahdatpour S (2011). Effects of probiotic, prebiotic and synbiotic intake on blood enzymes and performance of Japanese quails (*Coturnix japonica*). *Indian Journal of Animal Sciences*, 81(8): 870-874. Available at: <https://www.cabdirect.org/cabdirect/abstract/20113289755>
- Benites V, Gilharry R, Gernat AG, and Murillo JG (2008). Effect of dietary mannan oligosaccharide from bio-mos or SAF-mannan on live performance of broiler chickens. *Journal of Applied Poultry Research*, 17(4): 471-475. DOI: <https://www.doi.org/10.3382/japr.2008-00023>
- Bozkurt M, Küçükylmaz K, Çatlı AU, and Çınar M (2009). The effect of single or combined dietary supplementation of prebiotics, organic acid and probiotics on performance and slaughter characteristics of broilers. *South African Journal of Animal Science*, 39(3): 197-205. DOI: <https://www.doi.org/10.4314/sajas.v39i3.49152>
- Cai CH, Zhao RX, Wang P, Wang JS, Li KX, Zhan XA, and Wang KY (2019). Effects of different stocking densities on growth performance, antioxidant ability, and immunity of finishing broilers. *Animal Science Journal*, 90(4): 583-588. DOI: <https://www.doi.org/10.1111/asj.13148>
- Cengiz Ö, Köksal BH, Tatlı O, Sevim Ö, Ahsan U, Üner AG, Beyaz D, Büyükyörük S, Yakan A, and Önel AG (2015). Effect of dietary probiotic and high stocking density on the performance, carcass yield, gut microflora, and stress indicators of broilers. *Poultry Science*, 94(10): 2395-2403. DOI: <https://www.doi.org/10.3382/poult.2015.2395>

- <https://www.doi.org/10.3382/ps/pev194>
- Chae BJ, Lohakare JD, Moon WK, Lee SL, Park YH, and Hahn TW (2006). Effects of supplementation of β -glucan on the growth performance and immunity in broilers. *Research in Veterinary Science*, 80(3): 291-298. DOI: <https://www.doi.org/10.1016/j.rvsc.2005.07.008>
- Chand N, Shamsullah, Rafiullah, Khan RU, Mobashar M, Naz S, Rowghani E, and Khan MA (2019). Mannan-oligosaccharide (MOS) in broiler ration during the starter phase: 1. Growth performance and intestinal histomorphology. *Pakistan Journal of Zoology*, 51(1): 173-176. DOI: <https://www.doi.org/10.17582/journal.pjz/2019.51.1.173.176>
- Dacie JV and Lewis SM (1991). *Practical haematology*, 7th Edition. Churchill Livingstone, London. pp. 1-73.
- Dozier WA, Thaxton JP, Branton SL, Morgan GW, Miles DM, Roush WB, Lott BD, and Vizzier-Thaxton Y (2005). Stocking density effects on growth performance and processing yields of heavy broilers. *Poultry Science*, 84(8): 1332-1338. DOI: <https://www.doi.org/10.1093/ps/84.8.1332>
- Dozier WA, Thaxton JP, Purswell JL, Olanrewaju HA, Branton SL, and Roush WB (2006). Stocking density effects on male broilers grown to 1.8 kilograms of body weight. *Poultry Science*, 85(2): 344-351. DOI: <https://www.doi.org/10.1093/ps/85.2.344>
- Duncan DB (1955). The multiple ranges and multiple F tests. *Biometrics*, 11(1): 1-42. DOI: <https://www.doi.org/10.2307/3001478>
- El-Sheikh AMH, Abdalla EA, and Maysa MH (2009). Study on productive performance, hematological and immunological parameters in a local strain of chicken as affected by mannan oligosaccharide under hot climate conditions. *Egyptian Poultry Science Journal*, 29(1): 287-305. Available at: <https://www.cabdirect.org/cabdirect/abstract/20113110343>
- Feddes JJ, Emmanuel EJ, and Zuidhof MJ (2002). Broiler performance, body weight variance, feed and water intake, and carcass quality at different stocking densities. *Poultry Science*, 81(6): 774-779. DOI: <http://www.doi.org/10.1093/ps/81.6.774>
- Froebel LK, Jalukar S, Lavergne TA, Lee JT, and Duong T (2019). Administration of dietary prebiotics improves growth performance and reduces pathogen colonization in broiler chickens. *Poultry Science*, 98(12): 6668-6676. DOI: <https://www.doi.org/10.3382/ps/pez537>
- Gholami M, Chamani M, Seidavi A, Sadeghi AA, and Aminafshar M (2020). Effects of stocking density and environmental conditions on performance, immunity, carcass characteristics, blood constituents, and economical parameters of Cobb 500 strain broiler chickens. *Italian Journal of Animal Science*, 19(1): 524-535. DOI: <https://www.doi.org/10.1080/1828051X.2020.1757522>
- Guardia S, Konsak B, Combes S, Levenez F, Cauquil L, Guillot JF, Moreau-Vauzelle C, Lessire M, Juin H, and Gabriel I (2011). Effects of stocking density on the growth performance and digestive microbiota of broiler chickens. *Poultry Science*, 90(9): 1878-1889. DOI: <https://www.doi.org/10.3382/ps.2010-01311>
- Güçlü BK (2011). Effects of probiotic and prebiotic (mannan-oligosaccharide) supplementation on performance, egg quality and hatchability in quail breeders. *Ankara Üniversitesi Veteriner Fakültesi Dergisi*, 58(1): 27-32. DOI: https://www.doi.org/10.1501/vetfak_0000002445
- Guo Y, Ali RA, and Qureshi MA (2003). The influence of β -glucan on immune responses in broiler chicks. *Immunopharmacology and Immunotoxicology*, 25(3): 461-472. DOI: <https://www.doi.org/10.1081/IPH-120024513>
- Heidari S and Toghyani M (2018). Effect of stocking density and methionine levels on growth performance and immunity of broiler chicks. *Iranian Journal of Applied Animal Science*, 8(3): 483-489. Available at: https://ijas.rasht.iau.ir/article_542688.html
- Houshmand M, Azhar K, Zulkifli I, Bejo MH, and Kamyab A (2012). Effects of prebiotic, protein level, and stocking density on performance, immunity, and stress indicators of broilers. *Poultry Science*, 91(2): 393-401. DOI: <https://www.doi.org/10.3382/ps.2010-01050>
- Ibrahim NSK, Ahmed ABNS, and Abdel-Raheem GSE (2021). Impact of dietary supplementation of prebiotics on the growth performance and immunity in broilers fed low protein diets. *Assiut Veterinary Medical Journal*, 67(171): 103-119. DOI: <http://www.doi.org/10.21608/avmj.2021.205249>
- Iqbal MA, Hussain A, Roohi N, Arshad MI, and Khan O (2017). Effects of mannan-oligosaccharides-supplemented diets on production performance of four close-bred flocks of Japanese quail breeders. *South African Journal of Animal Sciences*, 47(3): 290-297. DOI: <https://www.doi.org/10.4314/sajas.v47i3.5>
- Kridtayopas C, Rakangtong C, Bunchasak C, and Loongyai W (2019). Effect of prebiotic and synbiotic supplementation in diet on growth performance, small intestinal morphology, stress, and bacterial population under high stocking density condition of broiler chickens. *Poultry Science*, 98(10): 4595-4605. DOI: <https://www.doi.org/10.3382/ps/pez152>
- Lowry VK, Farnell MB, Ferro PJ, Swaggerty CL, Bahl A, and Kogut MH (2005). Purified β -glucan as an abiotic feed additive up-regulates the innate immune response in immature chickens against *Salmonella enterica* serovar Enteritidis. *International Journal of Food Microbiology*, 98(3): 309-318. Available at: <https://pubag.nal.usda.gov/download/39276/pdf>
- Mahmoud UT, Mahmoud MA, Abdel-Mohsein HS, and Amen OA (2018). AGRIMOS® prebiotics: Effect on behavior, performance, cecal microbial population and humeral immunity in broiler chickens. *Journal of Advanced Veterinary Research*, 8(3): 49-59. Available at: <https://www.advetresearch.com/index.php/AVR/article/view/303>
- Mahrose KM, Alagawany M, Abd El-Hack ME, Mahgoub SA, and Attia FAM (2019). Influences of stocking density and dietary probiotic supplementation on growing Japanese quail performance. *Anais da Academia Brasileira de Ciencias*, 91(2): e20180616. DOI: <https://www.doi.org/10.1590/0001-3765201920180616>
- Meluzzi A and Sirri F (2009). Welfare of broiler chickens. *Italian Journal of Animal Science*, 8(S1): 161-173. DOI: <https://www.doi.org/10.4081/ijas.2009.s1.161>
- Miao ZQ, Dong YY, Qin X, Yuan JM, Han MM, Zhang KK, Shi SR, Song XY, Zhang JZ, and Li JH (2021). Dietary supplementation of methionine mitigates oxidative stress in broilers under high stocking density. *Poultry Science*, 100(8): 101231. DOI: <https://www.doi.org/10.1016/j.psj.2021.101231>
- Mohammed LS, Kamel ER, Abo-Salem M, ST A, and RM ES (2016). Effect of probiotics, prebiotics, synbiotics, organic acids and enzymes supplementation on broiler chicks' immunity in relation to the economic performance. *Benha Veterinary Medical Journal*, 30(2): 34-44. DOI: <https://doi.org/10.21608/bvmj.2016.31327>
- Nasr MAF, Alkhedaide AQ, Ramadan AAI, Hafez AESE, and Hussein MA (2021). Potential impact of stocking density on growth, carcass traits, indicators of biochemical and oxidative stress and meat quality of different broiler breeds. *Poultry Science*, 100(11): 101442. DOI: <https://www.doi.org/10.1016/j.psj.2021.101442>
- Nikpiran H, Taghavi M, Khodadadi A, and Athari SS (2013a). Influence of probiotic and prebiotic on broiler chickens performance and immune status. *Journal of Novel Applied Sciences*, 2(8): 256-259. Available at: <https://jnasci.org/wp-content/uploads/2013/08/256-259.pdf>
- Nikpiran H, Vahdatpour T, Babazadeh D, and Vahdatpour S (2013b). Effects of *Saccharomyces cerevisiae*, Thexap and their combination on blood enzymes and performance of Japanese quails (*Coturnix japonica*). *Journal of Animal and Plant Sciences*, 23(2): 369-375.
- Nikpiran H, Vahdatpour T, Daryoush B, Tabatabaei SM, and Vahdatpour S (2014). Effects of functional feed additives on growth influenced

- hormones and performance of Japanese quails (*Coturnix japonica*). *Greener Journal of Biological Sciences*, 4(2): 039-044. DOI: <https://www.doi.org/10.15580/gjbs.2014.2.021014096>
- Onbasilar EE, Poyraz Ö, Erdem E, and Ozturk H (2008). Influence of lighting periods and stocking densities on performance, carcass characteristics and some stress parameters in broilers. *Archiv Fur Geflugelkunde*, 72(5): 193-200. Available at: <https://hdl.handle.net/20.500.12587/4068>
- Oni OO, Alabi JO, and Adebayo RM (2020). Comparative efficacy of lactose and mannan-oligosaccharides on performance, nutrient digestibility and health status of broiler chicks. *Indian Journal of Poultry Science*, 55(2): 121-128. DOI: <https://www.doi.org/10.5958/0974-8180.2020.00017.3>
- Palizdar MH, Daylami MK, and Pourelmi MR (2017). Effects of high stocking density on growth performance, blood metabolites and immune response of broilers (ROSS 308). *Journal of Livestock Science*, 8: 196-200. Available at: <http://livestockscience.in/wp-content/uploads/stocking-densities.pdf>
- Piray AH, Kermanshahi H, Tahmasbi AM, and Bahrapour J (2007). Effects of cecal cultures and aspergillus meal prebiotic (Fermacto) on growth performance and organ weights of broiler chickens. *International Journal of Poultry Science*, 6(5): 340-344. DOI: <http://www.doi.org/10.3923/ijps.2007.340.344>
- Prentza P, Castellone F, Legnardi M, Antlinger B, Segura-Wang M, Kefalas G, Fortomaris P, Argiriadou A, Papaioannou N, Stylianaki I et al. (2022). Effects of a multi-genus synbiotic (PoultryStar® sol) on gut health and performance of broiler breeders. *Journal of World's Poultry Research*. 12(4): 212-229. DOI: <https://www.doi.org/10.36380/jwpr.2022.24>
- Qaid M, Albatshan H, Shafey T, Hussein E, and Abudabos AM (2016). Effect of stocking density on the performance and immunity of 1-to 14-d- old broiler chicks. *Revista Brasileira de Ciencia Avicola*, 18(4): 683-692. DOI: <https://www.doi.org/10.1590/1806-9061-2016-0289>
- Rehman A, Arif M, Sajjad N, Al-Ghadi MQ, Alagawany M, Abd El-Hack ME, Alhimaidi AR, Elnesr SS, Almutairi BO, Amran RA et al. (2020). Dietary effect of probiotics and prebiotics on broiler performance, carcass, and immunity. *Poultry Science*, 99(12): 6946-6953. DOI: <https://www.doi.org/10.1016/j.psj.2020.09.043>
- Roger EK (2013). *Experimental design procedures for the behavioral sciences*, 4th Edition. Sage., Los Angeles. p. 107.
- Sekeroglu A, Demir E, Sarica M, and Ulutas Z (2009). Effects of housing systems on growth performance, blood plasma constituents and meat fatty acids in broiler chickens. *Pakistan Journal of Biological Sciences*, 12(8): 631-636. DOI: <http://www.doi.org/10.3923/pjbs.2009.631.636>
- Sekeroglu A, Sarica MUSA, Gulay MS, and Duman M (2011). Effect of stocking density on chick performance, internal organ weights and blood parameters in broilers. *Journal of Animal and Veterinary Advances*, 10(2): 246-250. Available at: <https://www.cabdirect.org/cabdirect/abstract/20113067439>
- Shendare RC, Gogle MA, Rajput AB, Wanjari BV, and Mandlekar SM (2008). Effect of supplementation of Manno-Oligosaccharide and b-glucans on maize based meal on commercial broilers. *Veterinary World*, 1(1): 13-15. Available at: <http://www.veterinaryworld.org/2008/January/Supplementation.pdf>
- Simtzi PE, Kalogeraki E, Goliomytis M, Charismiadou MA, Triantaphyllopoulos K, Ayoutanti A, Niforou K, Hager-Theodorides AL, and Deligeorgis SG (2012). Impact of stocking density on broiler growth performance, meat characteristics, behavioural components and indicators of physiological and oxidative stress. *British Poultry Science*, 53(6): 721-730. DOI: <https://www.doi.org/10.1080/00071668.2012.745930>
- Simsek UG, Dalkilic B, Ciftci M, and Yuce A (2009). The influences of different stocking densities on some welfare indicators, lipid peroxidation (MDA) and antioxidant enzyme activities (GSH, GSH-Px, CAT) in broiler chickens. *Journal of Animal and Veterinary Advances*, 8(8): 1568-1572. Available at: <https://medwelljournals.com/fulltext/?doi=javaa.2009.1568.1572>
- Skrbic Z, Pavlovski Z, Lukic M, Petricevic V, Djukic-Stojcic M, and Zikic D (2011). The effect of stocking density on individual broiler welfare parameters: 2. Different broiler stocking densities. *Biotechnology in Animal Husbandry*, 27(1): 17-24. DOI: <http://www.doi.org/10.2298/BAH1101017S>
- Sohail MU, Ijaz A, Younus M, Shabbir MZ, Kamran Z, Ahmad S, Anwar H, Yousaf MS, Ashraf K, Shahzad AH et al. (2013). Effect of supplementation of mannan oligosaccharide and probiotic on growth performance, relative weights of viscera, and population of selected intestinal bacteria in cyclic heat-stressed broilers. *Journal of Applied Poultry Research*, 22(3): 485-491. DOI: <https://www.doi.org/10.3382/japr.2012-00682>
- Tarabees R, Hafez HM, Shehata AA, Allam TS, Setta A, and Elsayed MSA (2021). Effects of probiotic and/or prebiotic supplementations on immune response, haematology, oxidant-antioxidant biomarkers, and cytokine mRNA expression levels in the caeca of broilers infected with salmonella. *Poultry Science Journal*, 9(1): 41-52. DOI: <https://www.doi.org/10.22069/psj.2021.18438.1637>
- Tavaniello S, Maiorano G, Stadnicka K, Mucci R, Bogucka J, and Bednarczyk M (2018). Prebiotics offered to broiler chicken exert positive effect on meat quality traits irrespective of delivery route. *Poultry Science*, 97(8): 2979-2987. DOI: <https://www.doi.org/10.3382/ps/pey149>
- Thomas DG, Ravindran V, Thomas DV, Camden BJ, Cottam YH, Morel PCH, and Cook CJ (2004). Influence of stocking density on the performance, carcass characteristics and selected welfare indicators of broiler chickens. *New Zealand Veterinary Journal*, 52(2): 76-81. DOI: <https://www.doi.org/10.1080/00480169.2004.36408>
- Tong HB, Lu J, Zou JM, Wang Q, and Shi SR (2012). Effects of stocking density on growth performance, carcass yield, and immune status of a local chicken breed. *Poultry Science*, 91(3): 667-673. DOI: <https://www.doi.org/10.3382/ps.2011-01597>
- Usama TM, Manal AM, Hosnia SA, and Omar AA (2018). AGRIMOS® Prebiotics: Effect on Behavior, Performance, Cecal Microbial Population and Humeral Immunity in Broiler Chickens. *Journal of Advanced Veterinary Research*, 8(3):49-59. Available at: <https://advetresearch.com/index.php/AVR/article/view/303>
- Wang J, Zhang C, Zhao S, Ding X, Bai S, Zeng Q, Zhang K, Zhuo Y, Xu S, Mao X et al. (2021). Dietary apple pectic oligosaccharide improves reproductive performance, antioxidant capacity, and ovary function of broiler breeders. *Poultry Science*, 100(4): 100976. DOI: <https://www.doi.org/10.1016/j.psj.2020.12.073>
- Waqas M, Mehmood S, Mahmud A, Saima, Hussain J, Ahmad S, Tahir KM, Rehman A, Zia MW, and Shaheen MS (2019). Effect of yeast based mannan oligosaccharide (Actigen™) supplementation on growth, carcass characteristics and physiological response in broiler chickens. *Indian Journal of Animal Research*, 53(11): 1475-1479. DOI: <https://www.doi.org/10.18805/ijar.B-923>
- Xu ZR, Hu CH, Xia MS, Zhan XA, and Wang MQ (2003). Effects of dietary fructooligosaccharide on digestive enzyme activities, intestinal microflora and morphology of male broilers. *Poultry Science*, 82(6): 1030-1036. DOI: <http://www.doi.org/10.1093/ps/82.6.1030>
- Yalçinkaya I, Çinar M, Yildirim E, Erat S, Başalan M, and Güngör T (2012). The effect of prebiotic and organic zinc alone and in combination in broiler diets on the performance and some blood parameters. *Italian Journal of Animal Science*, 11(3): e55. DOI: <https://www.doi.org/10.4081/ijas.2012.e55>
- Yaqoob MU, El-Hack MEA, Hassan F, El-Saadony MT, Khafaga AF, Batiha GE, Yehia N, Elnesr SS, Alagawany M, El-Tarabily KA et al. (2021). The potential mechanistic insights and future implications for the effect of prebiotics on poultry performance, gut microbiome, and intestinal morphology. *Poultry Science*, 100(7):

101143. DOI: <https://www.doi.org/10.1016/j.psj.2021.101143>
- Zhao JP, Chen JL, Zhao GP, Zheng MQ, Jiang RR, and Wen J (2009). Live performance, carcass composition, and blood metabolite responses to dietary nutrient density in two distinct broiler breeds of male chickens. *Poultry Science*, 88(12): 2575-2584. DOI: <https://www.doi.org/10.3382/ps.2009-00245>
- Zhou M, Tao Y, Lai C, Huang C, Zhou Y, and Yong Q (2019). Effects of mannanoligosaccharide supplementation on the growth performance, immunity, and oxidative status of partridge shank chickens. *Animals*, 9(10): 817. DOI: <https://www.doi.org/10.3390/ani9100817>